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Chemistry (Objective) Group - I Paper (If)
Time Allowed:- 20 minutes PAPER CODE 4483 Maximum Marks:- 17
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the |
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or
white correcting fluid is not allowéd. Q.1 :
1) Vinyl acetylene combines with HCI to form:

(A) Polyacetylene (B) Benzene (C) Chloroprene (D) Divinyl acetylene

2) Which statement is correct? _
(A) Metallic Character (B) Metallic character (C) Metallic character (D) Metallic character

increases down the increases from left remains the same remains the same
group to right along a from left to right down the group
period along a period

3) Which of the following is not soluble in water:
(A) Sodium Sulphate (B) Potassium Sulphate (C) Zine Sulphate (D) Barium Sulphate

4) Boric acid cannot be used:
(A) As antiscplic in medicine (B) For washing eyes (C) In soda bottles
5) SOgisnot absorbed in water directly t0 form H,S04 because:
(A) The reaction does  (B) The reaction is (C) The reaction is (D) SO; igdnsoluble in
not go to completion quite slow highly exothermic water

6) Bleaching powder may be produced by passing chlorine over: :
(A) Calcium carbonate (B) Hydrated celcium sulphate (C) Anhydrous calcium sulphate (D) Caleium hydmxjda_

7) Coordination number of Pt in [ Pt CL(NO2) (NHa)4) is:
(A) 2 (B)4 )1

(D) For enamels and glazes

@) 6

8§) Absc:’l\utTeq alcohol can be obtained by redistillation of rectifiedsSpixit iy the presence of:
. (%) Nax0 (B)Cu0 (ChALQ (D) CaO
Aromatic compounds burn with sooty flame because;
(A) They have high (B) They have a ringg W€} They have high

percentage of
lires structure percentage of L
ydrogen ! with air.

10) The rate of E1 reaction depends upon:
(A) The concentration (B) Thé@eficénttdtion (C) The concentration (D) The concentration

(D) They resist reaction

of substrate obnueleophile of substrate as wel
] s
alttiecch o | - as Wucleoile of eliminated group
] (A)S ape is associated with wh1;:h set of hybrid orbital?

yei Bl (B),sp () sp 2

12) Whl(i\) ccogpé));nd shipwsinaximum hydrogen bonding withpwater: —
. 3 (B) CSH“OH C) CH -O- H

13) lodoform is prepdted byithe reaction of lodine with: e Sl

(A) AcetiC acid (B) Formic aci

cid (C) Acetone i

14) Methyl Magnesidm bromide combine with CO; to form e

(A) ‘Bthyl alcohol (B) Diethyl ether (C) Acetic acid (D) Acetone

15) Oils are glycerol esters which contain higher proportion of:

Ay U
(A) Unsaturated hydro  (B) Saturated hydro (C) Unsaturated fatty (D) Saturated fatty acid

carbons components carbons com i
. . . ' ponents acid components
16) Ure? )S :115 301 gi;}quahty nitrogeneous fertilizer. It contains about: . SRR
A % Nitrogen (B) 70% Nitro 2 Ni
gen C) 46% i
i7) Z\#lu:tl:fma-2 has a mean residence time of about years in t(he)atmc;}sll:\)jliterrc:fcn i
(A) 2-5 years (B) 1-2 years (C) 3-7 years (D) 4-6 years
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Section «-veomemmemnen I
2. Answer briefly any Ilight parts from the followings:- 8 x2=16

(i)  Give equation when borax is heated with NH4Cl (ii) What is COD? Give its significance.
(iti)  Give any four uses of Aluminium. (iv) Give the names and formulas of acids of Boron.
(v) Whatis Wurtz-Fittig reaction? (vi) Convert toluene into benzoic acid. S0:H
(vii) ~Give the importance of Lipids. (Four points). (viii) Complete the reaction:
(ix) What are isomerase enzymes? Give one example.
(x)  Differentiate between DNA and RNA. (Two points).(xi) How water is purified by aeratiog®Discuss.
(xii) ~ Give the role of atmosphere gases for sustaining life on earth.
: Answer briefly any Eight parts from the followings:- 8 x2=16
(i)  Why there is no free rotation around a double bond and a free rotation around@ sihgle*bond?

(i)  How wood is transformed into coal? (iii) Identify each lettered product imsthexfollowing reaction.
Alcoholic
—

Propene i D “yon

(iv)  Write the test to check unsaturation in the unsaturated hydrocarbounsy

(v)  Give two uses of ethyne. (vi) Why does aqua regia dissolvé gold?

(vii) P2Os is a powerful dehydrating agent. Prove it giving two exfimiples)
(viii) Describe ” Ring test “ for the confirmation of presence®fhitéate ons in solution.
(ix) What is f-elimination reaction? Give example,

(x)  Give IUPAC names of the following compounds; @)#(@H3), CHBr b) CH, Cl,
(xi) Name three principle methods of chemical pulpingiofpéper.
(xii) Write names of four argillaceous raw materials used'in manufacture of cement?

+ HOH ————

3

. - l' : » 12
4. Answer briefly any Six parts frfom the followings:- 6 x2

(iy  Describe chromyl chloride test. Wiite its eq;atic_mkl ;
i) Why does damaged tin platédizon@et rustec quickly: . .
{(ilili)) Whgt are chelates? Givean example. (iv) Convert acetaldfahyde into 1a_c.t1c acn\% N——
(v) Ethanol gives different products with Conc. H,S80. under different conditions. Write ¢4 .
vi) How is Bakelite prgpared? Give its equation.
((vii)) Write two readtions Of ethanol involving the cie?avage of Q—H bond.
(viif) What is Feliling"$ solution test? Write its chemical equation.
(ix) How'dges €HsCOOH react with NaOH and NaHCO;?
Section ~------===== 11 —"
Note: Attempbany three questions. N ‘
5. (a) Whl:lt are Halides? Name their types by giving two properties of each_type. :
(b) How do carbonates and nitrates of Li differ from those of other Alkali mebtla s.h_ —
6., (a) Write down the construction and working of Beckmann's method for manflfacturmg (.>f ca(i ing p :
' (b) What is meant by “setting of cement”. Describe the reactions involved in setting of cement
during 1 to 7 days. o _ . .
7. (a) Whalgis hybridization? Describe the hybridization to explam. .the structure of alkynes in detail.
' (b) Describe the mechanism of: (i) Halogenation of benzene. (ii) Sulphona}lon of benzene
8. (a) Describe the mechanism of Kolbe’s electrolytic method for the preparation of alkyne.
b) By using Grignard reagent prepare: .
= (ifPrimary alcohol (i) Secondary alcohol  (iii) Ter. al‘cohol‘ (iv) Alkane
9, (a) Explain the mechanism of the reaction of phenylhydrqzme with acetone.
(b) Write down the mechanism of acetic acid and ammonia.
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